Problem 1 {6 points). Let T: R* — R* be a linear transformation defined by [¢5 o ¢
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be a vector in R, Find the sclution to T(F) = b, in other words, find a vector & in B4
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Problem 2 (6 points). Are the following matrices in reduced row echelon form? If not,
find the reduced row echelon form.

v L (! :2 1 } 0 ? artov D0
o 1 30 | : O o S0

l ”("c, /'\) }’
OO

10
a.) (3 points) A = |0
0

[L o ]
Wi = b

]

|

10 2 0
. |01 1 8
b.) (3 points) B = 0001
0000
]
!
vo 2 O - L
Y rred () o J L0200
Sl o by 0 Jo v
O 0 9! ! | i *:7 q [:). Co
| O 0 Lj O \ (‘J @ i ‘



Problem 3 (6 points). For each of the matrices below, either find an inverse or explain
why no inverse exists.
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describes the projection on the horizon-

Problem 4 (6 points). Find a matrix which rizo:
al line in R2. Does the order of these

tal line combined with a reflection about the vertic
transformations matter?
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